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No i ] #% H FA A B R BERER
1 18K 1500m R 2 #H FAMLL—XR 9:30 8:50 ~ 9:10
2 2FLK 1500m REE| 2 B AA4ALL—R 9:45 9:05 ~ 9:25
*1 ~37
3 158 1500m REE| 6 # M LL—XR 10:00 9:20 ~ 9:40
*4 ~ 64
9:35 ~ 9:55
*71~34
4 2FEH 1500m REE| 5 #H AALL—XR 10:40 10:00 ~ 10:20
x4 ~ 58
10:15 ~ 10:35
5 1% 200m FE(3 M8 2 BF + 2 11:20 10:40 ~ 11:00
6 2FLK 200m FE(4 8 1 B + 4 11:30 10:50 ~ 11:10
*1 ~57
7 158 200m FE|10 48 0 & + 8 11:40 11:00 ~ 11:20
*6~ 10/
11:10 ~ 11:30
*¥71~64
8 2HEH 200m FE|11 8 0 & + 8 12:05 11:25 ~ 11:45
*6~11#4
11:35 ~ 11:55
9 18% 30 0mH (76. 2cm/35. 00m)  3Rf% 12:45 12:05 ~ 12:25
10 2F LK 30 0mH (76. 2cm/35. 00m)  3Rf% 12:50 12:10 ~ 12:30
11 — g% 3 0 O mH (76. 2cm/35. 00m) 1 #8 12:55 12:15 ~ 12:35
12 1458 30 0mH (91.4cm/35. 00m)  3RA% 13:10 12:30 ~ 12:50
13 2% 8 300mH (91.4cm/35.00m) RRH|( 2 #H 21 LL—XR 13:15 12:35 ~ 12:55
14 —H% 5 3 0 OmH (91. 4cm/35. 00m) 1 #8 13:20 12:40 ~ 13:00
15 185% 200m R 13:35 12:55 ~ 13:15
16 2E%L 200m R 13:40 13:00 ~ 13:20
17 158 200m R 13:45 13:05 ~ 13:25
18 2558 200m R 13:50 13:10 ~ 13:30
19 — g% 200m 2 # 13:55 13:15 ~ 13:35
20 —H% 5 200m 3 8 14:00 13:20 ~ 13:40
21 — g% 100m 5 #H 14:15 13:35 ~ 13:55
*1 ~574
20 —H% 5 100m 9 # 14:30 13:50 ~ 14:10
*6~10#
14:00 ~ 14:20
23 — g% 1500m 3 %A 15:00 14:20 ~ 14:40
*1~4#4
24 — %5 1500m 7 % 15:20 14:40 ~ 15:00
*5~ 8 #
15:05 ~ 15:25
4 - SIRRE 15:25
25 = 4Xx400mR REs| 2 #H A4LL—R 16:15
15:35 ~ 15:55
-4 IR 15:40
26 2] 4x400mR REE|3 M AA4LL—R 16:30
15:50 ~ 16:10
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No & = i 5 B 4R B A RS
1E% =Bk 4 %

1 2L =Ex ik 1 4 9:30 8:40 ~ 9:00
— k% =Bk 1 £
1655 ' & B (AEYR) 13 &

2 2R £ B OB (AEwh) 13 & 10:00 9:10 9:30
— 5 ' & B (BEwH) 12 %
1558 =Bk 8 &

3 2F 5 =ER Bk 6 £ 11:30 10:40 11:00
—H5 =Bk 1 £
18% E B B (AEYR) 3 A&

4 2F% E & B (AEwR) 8 & 13:00 12:10 12:30
—f% E 5 B (BEwh) 1 &

; —H5 E mE OBk (AEwR) 10 4 14:30 1320 14:00
— k% E ME OBk (BEwh) 13 £

<ETE>

No d = B o B 1R
5% FI#&4% (1. 000kg) 17 %

1 2564 P #& 4% (1. 000kg) 4 4 9:30 8:40 ~ 9:00
— % FI#&4% (1. 000kg) 4 %
1558 M#&4% (1. 750kg) 9 4

) 2468 Mg (1. 750ke) 4 £ 11:30 10°40 ~ 1100
— &5 M #&4% (1. 500kg) 2 &
— &5 Mg (1. 750ke) 3 &
5% ny3-# (4. 000kg) 2 £
254 ny3-# (4. 000kg) 3 4

3 — k% ny3-# (4. 000kg) 2 £ 1330 1940 ~ 13:00
15£8 ny3-# (6. 000kg) 2 4
2R Ny3-#% (6. 000kg) 2 %
— %5 nNy3-1% (6. 000kg) 3 £




